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The City School 
Southern Region 

 
Reinforcement Worksheet 

Mathematics 
Class 3 

Topic: Number Sequence, Addition and Subtraction 
 
 
Name: _________________________  Section: _____ Date: __________ 

Time: ___________ 

 
Q1 Fill in the blanks:          
 

a) What is the value of underlined digit in 2467 = _________________. 

b) Write in words 20,060 = ___________________________________. 

c) Write the place value of ‘2’ in the given number 1269 = __________. 

d) 438 + 20 = _____________. 

e) 160 + 80 + 120 = ______________.  

f) 6718 = 6000 + ___________ + ____________ + 8. 

 
Q2 Encircle the correct answer:        
 
 a) 4001, 5001, 6001, _________.    (7101, 7001, 7100) 

 b) 23 + 33, result is __________.    (Odd, Even) 

 c) 581 – 418 = ______________.    (136, 100, 163) 

 d) The value of 2 in 12,036 is ____________.  (2000, 200, 20,000) 

Q3 Match the following.         
 
 a) 5040 + 1040    6000 ______ 

 b) 9060  – 3060   800 _______ 

 c) 420 + 420    6080 ______ 

 d) 900  – 100    840 _______ 
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Q4 Write in the missing numbers.        
 a) i) 216 +_________= 837       

  ii) 5016  –  ________= 4016 

  iii) ________ + 1318 = 2008 

  iv) ________ – 184 = 214 

  
 b) Complete the missing numbers      
   
  19,143 = 10,000 + _______+ _______+_______+_______ 
 
Q5 State whether True or False.          
  
 a) In ascending order, we arrange numbers from big to small _____ 

 b)  96 – 11, result is odd __________ 

 c) 12,800, 11,800, next number in the sequence will be 10,000_______ 

 d) 14, 16, 18, next number will be 20 __________ 

 
Q6 Complete the number sequence.                                    
 
 a) i) 1891 _______, ________ 1861, 1851      

  ii) 6380, 6480, _________, __________ 

 b) Count on back in hundreds. Then fill in the blanks.    

  i) 7889, 7789, _________, __________ 7489 

   Rule: _________________________________________________ 

  ii) 4029, ________, 4229, 4329, _________ 

   Rule: _________________________________________________ 

Q7 Solve:           
 a) i) 463 + 126 = ____________     

  ii) 60 + 24 + 80 = __________ 

  iii) 793 – 493 = ____________ 

  iv) 180 – 70 = _____________ 
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 b)    6389     7013    
  + 1734           –  1568 
         
 
 
Q8 a) Lisa travelled 3205m in a car on 1st day and 4317m on 2nd day. How far did she  
  travel on both days?       

 
Solution: ________________________    

________________________    

  ________________________ 

  Answer: ________________________ 

b) Sara bought a hand bag for £267. She paid £300 to the shopkeeper. How 
much change will she get?        

 
Solution: ________________________    

________________________    

  ________________________   

  Answer: ________________________ 

 
 c) A baker baked 839 cupcakes on Friday and 361 more on Saturday. 
             
  i) How many cup cakes he baked on Saturday? 
  ii) Find the total number of cupcakes baked on both days? 

iii) If he sells 1039 cupcakes from the total, then how many will be left? 
 
Solution: ________________________    

________________________    

 i) ________________________ 

 ii) ________________________ 

 iii) ________________________ 

Answer: ________________________ 


